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. (1) All questions are compulsory.

(3) Answers to the same question must be written together ]f :
(4) Numbers to the right indicate marks. oy
(5) Draw neat labelled diagrams wherever necessary. =

{6) Use of Non-programmable calculators is allowed.

Attempt any three of the following:
Define the foliowing

i) Range  ii) Quartile deviation
1v) Standard deviation v) Variance

iii) Mean De\latmn o
Calculate the mean and standard deviation for the f_ol quns tab gmng tnP age

distribution of 542 members S £

Age (in years) | 20-30 | 30-40 | 40-50 | 5060 | 60-70- “i:.?O»-‘éQf '80-90 |
No. of 3 61 <1327 47153 CHG D SSF LAV
members S E A v N SIS

c.  Calculate the Semi-inter quartile rangt:;-»éoe»fﬁciént‘ éfsvari@t,i,on'ﬁfc')r;t}lle foyl‘ltowing data
Wages | 170- | 180- [ 190- [ 200- | 210- | 220- | 230- | 240-

180 | 190 | 200 | 210 {220 | 230 | 240 | 250
No. of &2 68 85 SRS P SEA Y 100 \, 4,095, 70 28
persons S P ol PRANS S

d. rom the following da‘ra calculatv Q1 and Q3 and Ql.amle dev1at10n
Marks more than ; 10-F < 20 SE30 4() 50 60 70
Number of Students | 12 1" 30 ST S 0 101 | 112

e.  Find the Geometric mean for the followmﬁ d1strxbut10n
Marks 0-10 510220 20:30: 30-40 40-50
No. of 5 2O SR v b 25 8
Students , ; o’

f.  Compute Mean deviat_iori.and{ semi:‘i-‘,,i"i’_’efgug;rtilé range (Q. D.) for the following data
Class [ 0-10 [ 1020 | 20-30 [ 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-9
Interval o e .

Frequency | 8 A2 20 o525 15 9 6 5 5

2. Attempt any three of. the followmg

a. . Obtain Karl Pearson’s measure of skewness for the following data
Values. - 510l 10-15 15-20 20-25 25-30 30-35 35-40
Frequency 6 8 17 21 15 11 2

[TURN OVER]
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15



Paper / Subject Code: 79103 / Coniputer Oriented Statistical Techniques

Find the second, third and fourth central moments of the frequency distribution given

below. _
Class 110- I15- 120- [25- 130- 135- 140-
limits 1149 | 1199 1249 | 1299 134.9 139.9 144.9
Frequency 5 15 20 3574 10 10 &)

What is kurtosis? Explain types of kurtosis and measures of Kurtosis.

A survey of 500 television viewers produced the following information; 285 watch
football 195 watch hockey. 115 watch basketball. 45 watch football and basketball, 70
watch football and hockey, 50 watch hoclicv and basketball, 50 d not watch any of the tree
games. Create a Venn diagram and then determine the probability that if a viewer is
selected at random. '

I.  Watch all three games
II.  Exactly one of the three gunies

If a pair of dice is thrown and X denotcs the sum of-the numbers on them. Find the
probability distribution of X. Also {ind tho cxpectation of X.

A random sample of 400 men is found to v e a mean height 0of69.2 inches and a standard
deviation of 2.7 inches. Find

a) . The 95 percent confidence limits 1 the true average height.
b)  The 99 percent confidence limits 1 the true average height.

Attempt any three of the following:
What is hypothesis test? Explain types ol v pothesis. Explain level of significance.

A random sample of 100 balls selected (rom a large consignment of cricket balls gave
10% defective balls. Find 99% confidence limits tor the percentage of defective balls in
the consignment.

A survey of 40 retired women revealed the mcan age at which their income was maximum

to be 45 years with a standard deviation 0.3 years. Find 95% confidence limits for the

mean age of maximum carnings of wonici who survive till they retire. -

A car manufacturer claims that 40% ol all cors built by his concern will be still in running

condition after 10 years. A random samp !> o 400 cars built by his concern showed that

150 cars were still in running condition o 10 ycars. Test the claim at 1% level.
[TURN OVER]
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following. sample

o

300-400 I 400-500
:
1

9

1

. |

f. Form the given sampfe m“" 00, 35 are working as a professor. CurNrLu a 95% confide 'ef 2
interval for the probability that almost most of the educanc-., people Trom the sample ar

~

working as a professor.

4. Attempt any three of the following: £ Ky N
a.  20%of apples In a iarge consignment are found to be bad. For the probd.,il ity that at least
25% apples are bad in a sampie size of 400 drawn Imm 1* ) ‘

b. It is known that 30% male aduits are unmarried !n a Ccrtai“ city A -sample of 100. 'raie
adults is selected at random from the uty Fi 'nd e chanye that thc samp’e i,,.cmdes

S')

d.  Inan experiment Gflmmanizatio*n‘of ittl;
obtained.

Inocyl%!cd
Not moculatud
" Examine the effective of vaccinei

" significance.

n cox’itr’é;lfthéVi'nkc’idéh'c:e of the disease at 1% level of

€. sing the data given in below table to decide whether we ¢an conclude that siandard ofa
salpsman has significant effect on- hD performance in field selling at 5% level of
mgmﬁca'lce

: Performanc’” infield.
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Rural 620 380 1606
Urban - 550 450 1000
Total ii70 830 12000

5. Attempt any three of the folic cwing:
Fit a straight line trend value for the 'rcixo»\mg series,

” units for 2002.
| Year 1995 1996 008
| Production | 125 128 1357,
f unit
M t a parabola for the given data
‘ X 0 o 4
Y 5 4- 37
¢.  Explain the following 4
i) Coefficient of correlation 0
i) Standard Error of E'sti"mate e
d. The following data reue to advert;smg and saieq
| Advertising | , I W E 3 4 5 i
i_Expenditure } R e S A =
e RCNEME . LF S YRyl At ol |
[ valey | 07, LS S B30E A8 50 40 |

Obtain the tw0 regessron equatlons.

/ i'he marks obtamcd by 10 students in Mathematlcs (X) and Sta istics (Y) are given below.
Find the coefficient of correlat ion betweun X and r

[ Roll L5 2 TR o A5 s 1% 7 8 9 10 |
X [ 75717307160 80753 | 35 1 15 4 T3z 48|
Y [85:1745°] 54 -917_i558 63 | 35 | 43 [ 45 | 4 |

f." Onthe basis of a sample size 27 a regressmn equation of y on x was found to be y=0.25
+2.00x. If 6= 3 and Oxy = 750 find'95% and 99% confidence limits for the regression
- coefficient.
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